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Question 1[4,4}. a) Find and sketch the largest region of the zy—plane
for which the mitial value problem

2 2ydy
{‘\1 + )a;*lvllj*l

yi—=2) =4

has @ unique solution.
b) Find the solution of the differential equation:

di , :
—J(y ~IWat w1+ 2* ==yt + Iy =1

dx

Question 214,4]. a) Solve the following differential equation

. 9 . 3 d - .
(3ry —ao+y )4+ 1o+ ;1:3/»71{ =0 7>0,0+y=+1.
dx

b) Find the solution of the mitial value problem

. LT )
il = 7. Tl

{ [;r cost Y — g dr + xdy =0
1

uestion 3[41. Find the general solution of the differential equation
[=] & {
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y“—(/ +ryt = we ;x> 0Ly #0.
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Question 5[5]. Find the family of orthogonal trajectories for the family
of cirves
y=¢€"" 02 e
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where (' 15 an arbitrary constant such that " # 0.



Claes b
lwes Yo, 4

S Ryl 0,

®

2
REX P

®
®

Quaslionz.
@
S H.
Then

/=

~ A |
Coovrfiy Lo Solbis nr <.

N do

xz_ka xrﬁ(}tj) A3

%(‘2)‘-9_

f\b Covhitnusun en P\ 1(1 145 x €IR % 3>|§

PR

zgwa

Q\{LE\ tLQ J:\[@

ooy (2 Y .
+ xw+|):3(x+\)x >y +I

|

- - i

¥ - - ;
SES'L\(eacww | ¢ io

i

9
o

(’2) H-) V

Yoy [

(R

f y
" \l\‘j - Pj(?ﬂn,a

_205 < '»l,-:x u:\u.w 53(.4((4.' N
SAn

(TR
RSN I - x(C¥Sn (3o
J = > {0

%

= X\,X-—t\ A>¢

Ne %)
pd - \ 2 /Z
= J‘X(X*‘) M= < () e

('5‘63_

M
oM _

R

\\)E—\A V\o‘.’ QMC/%. Pt

Mexs

) (%o v y) 2
g e

«

o

|

Y]

QN
ol
X2y VS N

S ﬁ(yq Ade N =

Pocs - o

- e j d"; _ eh\x\

= <l oy

~ :"".Te‘w/

R

\

Mooy Pt Semerie 1438/1433

»

Q .
$o Coh{xv.uew, s~ R, 5 (riyyy x&EIR tj>lzr‘

o <37‘3"X*\:_‘)€)0\X+ (*Ae-\-xj“,d\é:—







VAR Ll R

&

The

Se the
o\wes{\o\g‘. @

& -
7"‘\‘3"Xe*3 X >0

(/ \O Rpff\/)\,\jj‘ J e {-‘
J"‘C\ BN

l\'/'f‘“‘&(j‘ Y‘g_ex

Wihoe - B
R S LSNP Q)
. - Lf- j :’ { IPAL\,»QR‘
w -y < x?
7 W= xe
< 2
% & LL+<I—-XU,~({_YG\Y
Peod =« Mo I Peosa
’T e LR Ao .
e 2%
Me&o y - j - 2 = e
2 < Z
% X
e }j(* = 4x€ dAx= 2e” )
’
SO'QA-\_&L ‘f‘ @
M e R RS
v’ ¢, 2 =
€ 'jf-- 2 C‘X:C 6t
T e :
\ Z T
» - \
\ e (yfe-z2) = /
\
g CSwx _ o <x<m,

Wee v g -

BE£ \&- - ~ o
TR 3(:(9:{.)(&8 ﬂﬂw%

9 < o

Ax T T

SR

j‘\j'@"‘ﬁ 4y ~ g Z\hxé\)(sa
&SX

/L?:‘j ,__,3 — LCGSX —c

XUQ’“:J t1 %ﬂvas;ﬂ




